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f(9(x)) X+2 f(9(x)) x-2
f(x) = 6x* — 25x® + 60x? + Mx+n m n
@ h K G )
(b) f(x)=0 5 )
© MP5-SQ—12




ZER (3552)

15.

3

MP5-SQ—13




16.

15

36

-25

17

61

46

4

MP5-SQ—14




17.

(@
(b)

4374

162

6500

@
3

~—

MP5-SQ—15




18.

ZACB =50°

BC=BD =24cm

(@
(b)

AB
ACD

AC=AD =18cm
CD=20cm

BCD

ABCD

@

3

MP5-SQ—16




2016
DSE

19. f(x):—%x2 +2cx+(3c-5) >
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D. (2,-8) C(10,—4)

MP5-MC—6



27. 2x%+2y? -12x+20y+15=0

1. (3, -5)
. 11
i (4, 6)
A. I
B. I
C. oo
D. I Il 1l

HKCEE

28. $20 $50 $100

$110

A. 02
B. 03
C. 04
D. 05

29. 4 B C

4 B C D $4 $1 $1  $10

A 4
B. $4.25
C. $475
D. $

DSE

30. 11 19 10 12 12 13 14 15 16 a b

11

A. 13
B. 14
Cc. 15
D. 16

MP5-MC—7

C

14

15



Z R

31, 8x°-1 4x*-4x+1 4x* -1

A 2x-1
B. (2x-1)°

C. (2r—1)(2c+1)(4°+2x +1)
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A. 10001010100,

B. 10010101000,
C. 10100101000,
D. 10101001000,

2013

> S =20° — 4

34. a#pf of =
54=2p2-4

A, 2
B. -2
C. 4
D. -5

2012

DSE
35. (a, b) VA

l. b>1
Il. 5>22a+1
. b>4-2q -
A. | < >
B 1 © y=4- 2
C. | 1
D | 1

MP5-MC—8



2015
DSE

36.

37.

2016
DSE

38.

2012
DSE

39.

A. | I
B. | 11
C. 1 i
D. | |l i
y=h—\/§tan%
0<x<«
I. h>0
. a<45
II. tanaozﬁ
h

A. | I
B. | 11
C. I i
D. | |l i

0° < x<360°
A. 2
B. 3
C. 4
D. 5

ABCD

A. 45°
B. 50°
C. b5
D. 60°

a,+a,+a;+---+a, <2000

ag =—432

a, =128

3sin? x—10cosx =0

AC

BCD

MP5-MC—9

O

_1'=J’i—\3tan'\
2




2012
DSE

40.

2015
DSE

41.

2015
DSE

42.

2015
DSE

43.

oo0w»

OO w>

oo w®>»

o
A

72°
84°
96°
108°

11
22
33

SISENERNE I

720

4320
5040

B
C

DABE
DE
ZBDO = 24°
B
5

ABC
O BD
ZBAC =

(0,66) (99, 33)

MP5-MC—10

L,

AOAB X



2013
DSE

45.

18

co o o b~ [

()
4 5 hn 7
2 6 6 7 h 9
0O 0 3 3 9 «
2 k
58
44
11
11
Il
X1 X2 X3 X4 X5 Xg X7

2x4+3 2x5+3 2x+3 2x7+3

A.

B.
C.
D

10
15
20
25

— #HeR —

MP5-MC—11

2x1+3 2x+3 2x3+3



BHE (1) (359)

1. (m3n9)2 _ mPnie N
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3
2. Ax=(y-3A)z
Ax=yz-3Az 1A
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4+b=12
b=8
. f(x)=x*+8x IM+1A
(b) x* +8x=105
x? +8x-105=0
(x=7)(x+15) =0
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ZHOK =90°, HK C
C =%\/62 +8 =5
C =7(5)° =257 IM+1A
5
11. (@ r cm
VAB %m2(27)=97zr2
2
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19. 1 1
(a) —Ex2 +2cx+ (3c—5) =—E(x2 —4cx) +(3c—5)
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=—1(x—20)2 +2¢% +(3c-5)
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1A
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b  y=f(x X
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2
(© f(-x)= —%(—x)2 +2c(-x) + (3c—5)
M
:—%x2 —2cx+ (3c-5)
f(X) y 1A
6
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(i) G P QR
PG L QR
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G R PQ
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49



i=b2s
(b) (i) x> +y?+Dx+Ey+F=0
PQ R
0°+12°+D(0)+E(12)+F =0
(-8)*+0*+D(-8)+E(0)+F =0
6°+0°+D(6)+E(0)+F =0
144+12E+F =0 ..(1)
64-8D+F=0 ..(2) 1M
36+6D+F=0 ..(3)
3 -(2:
-28+14D =0
D=2
D=2 (3
36+6(2)+F =0
F=-48
F=-48 (1)
144+12E-48=0
E=-8 A
X°+y*+2x—-8y-48=0 1A
(Xx+1)*+(y-4)*=65
(i) G Qs PQ R
G -1,4 S (6, 8) 1A
(@)(i))PHRS
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/HOQ = 90°
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1) 1Y
_ 672y _| _ 23)672
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b(x+y) =a(x-y)
bx + by = ax—ay
ay + by = ax—hbx
y(a+b)=x(a-b)

y—(a_b)x
a+b

x* —4y® —4x+8y

= (X+2y)(X—2y) - 4(x-2y)
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(A)

(A)

(A)
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( 2)

(A) x :0.0389567 = 0.04 )

(B) x:0.0389567 = 0.0390 ( )
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(D) x: 0.0389567 = 0.038957 (
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k=1
f(X) x-1
=f(1)
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9. vy =16
b=16
(2,0) y=2x*+ax+16
0=2(2)%+a(2)+16
2a=-24
a=-12
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X=—" =
~2(2)

X X=2
y=2(x-2)(x-c)
(0, 16) y=2(x—2)(x-c)
2(0-2)(0-c)=16
c=4
X 4
Xx=3

10. A=(1-25%)B=0.75B
B = (1+ 20%)C =1.2C
A= (0.75)(1.2C) = 0.9C
A C  10%

7a+5b
b-2a
7a+5b=11(3b-2a)
7a+5b=33b-22a
29a=28b
a_28
b 29
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11. 11
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y 37.5%

(A)

(B)

©

(®)

13.
X+y
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15y =2.5x
X 3
y 5
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14. 8
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15.
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2 2
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AABC =%(12)(8) =48 cm?
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/ABE = M = 75°
AC = AD,
BC=AD =AC
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:%:Mcmz
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20.
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18r =288
r=16
OA=16cm
AQRT ~ASMT (AAA)
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- PQTM : AQRT =5:4

A

X = acosd

y=bsing
DE = x+y=acosf +bsind

(B)

(D)

(®)



22.

oC

/BOC =2/BAC = 2(13°) = 26°
(

ZAOC =2/ADC = 2(58°) =116°
(

ZAOB

= /ZA0C - £ZBOC

=116° - 26°

=90°

23. 2

180°

_ 360°
n

=360°X5
n

360°

24. 1. v

360°
n

x5+ =180°

n=2x5+2
=12

. v 12
12

(D)

(A)

12

(B)

26.

95

=-1

4Ax-5y+14=0 ...(
{5x+4y+38=0 ...(2
Q) x4+ () x5:
41x+246=0
X=-6

X=-6 4x—-5y+14=0

4(-6)-5y+14=0
-5y-10=0
y=-2
Ly L,

(-6, -2 (D)

AABE = ABCF
AE = BF and BE = CF ( A )
6-b=10-a
{a—(—2)=—4—b
a-b=4 ...()
{a+b:—6 ...(2
D) +(2:
2a=-2
a=-1

(A)
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27.

28.

29.

30.

2x% +2y* —12x+20y+15=0

x2+y2—6x+10y+%= (%)
. v =(3,-5)
I, x: = /32+(_5)2_E: f5_3
2 2
1. v (4, 6) *)
LHS=4°+6 —6(4)+10(6)+?
:g'>0
(4,6) (B)
20 20 50 50 | 100
20 / 40 70 70 | 120
20 | 40 / 70 70 | 120
50 70 70 / 100 | 150
50 70 70 100 / 150
100 | 120 | 120 | 150 | 150 /
P( )= =04 ©
20
4><l+1><2+10><1
= 4 4 4
=$4 (A)
=14
19+1O+12+12+13+14+15+16+a+b+c_14
11
111+a+b+c=154
a+b+c=43
=15=a b c 15
a b c 13 15 15
11
10,12,12,13,13,14,15,15,15,16, 19
. =14

(B)

31. 8x°-1=(2x)°-1°,
=(2x-D[(2¥)? + 2x+1?]
= (2x-1)(4x? + 2x+1)

4x% - 4x+1=(2x)* - 2(2x) + 1
=(2x-1)?
4x? —1=(2x)*-1?
=(2x-1)(2x+1)
= 2x-1

= (2x=1)%(2x+1)(4x* + 2x+1)
(A)

32. Iogzy:—glogzx+3

3
log, y=log, x 4 +log, 2°

3
= Iogz(23x 4}

(A)

33 9x2'+2°43x22-22=(22+1)2" +2° +2x2?
=2°+2"+2°+2°

=10010101000, (B)
4. a,p 2x* —5x-4=0
-4
off=—=-2 B
7 > (B)
35. (ab) y=1 =b>1
(a, b) y=2x+1 =b<2a+1
y=4-2xX =b<4-2a

(a, b)
- | (A)

96



a =22 1458><% 32805
r

a+a,+a,+---+a,>2000 whenn=1
"

ata,tagt-= =

2000
(A)

97

tan o° = tan 60°
V3
V3

“h

1l (B)

38. 3sin’x+8cosx=0
3(1—cos® X) + 8cosx=0
3-3cos® x+8cosx=0
3cos? x—8cosx—3=0
(3cosx +1)(cosx—-3)=0

1
CosSX=—— or 3|
3 ()

0° < X< 360° 2 (A)

39.

M BD
AM L BD CM 1L BD
AC BCD
AM = CM =,/(2a)? —a? =+/3a
AACM
AM?=CM? + AC? - 2CM - AC cosZ/ACM

3a? =3a? + (2a)% — 2(+/3a)(2a) cos LACM
4a*

4322

1

"7

.. ZACM =55°( )

ZACM

CosZACM =

©



40.

OA OB

OB=0OD ( )
- /DBO = /BDO = 24°
(
/BOE=24°+24°=48 (A )
ZOAB = /BOE = 48° (
ZOAC = ZOBD = 24° (
ZBAC = ZOAB + ZOAC

=48°+ 24°
=72°
41. OB :§§:l
9 3
_-1__
A OB _T_ 3
3
A OB
y=-3x+ 66
OA y
: B OA y=33
y=-3X+66
y=33
—-3x+66=33
x=11

(A)

(B)

42. ;
1 g B
2 P 3y
8
2
1 < B
2 Q 4
z Y
P( )
=P( P )+PC Q
1 4
e e
2 6
31
= D
18 (D)
43 7 =7
2 2
=6l
=7! - 6! =4320
(©)
44 5<h<7 7<h<9
h=7
k=9
| v -57+59=58
2
1. x =89-44=45
. v =63-52=11

45. Va(2X +3)=Var(2X)
=2?Var(X)
=2°%5
=20
©

98



